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Candidates are required to give thetrr answers in

their own words as far as practicabie
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Answer any four questions in which

Q Nec 1is compulsory

fo37 wTr wEl @ 3 & | ve &o ! wtarf 8 1

(a) Give one example of each of the following

type of sel 10
fafafia ay=ud # 0% -UF ITET 3.

(i) Null set
frer W=

(i) Finite set
gftfaa ag=m
( Tum over )
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(b) In a class 64% of students have taken Maths
(M) and 56% of students have taken

Economics(E). How many % of students
have taken both subjects ? 10
feft an § 64% faendf nfora (M) fore # awn
56% faendff sidwres foe # | frad wfowa
fyafdat 3 21 fawg o 2

2. (a) Solve the following equation 10

‘E.'E‘lﬁﬁi:
3_+ 5 _ 8

x-3 x-5 x-8

(b) Find the equation of the straight line passing
through the point (1, 2) and having slope 3.

10

(1, 2) fag @ 213 qu 3@ @@ @ w wdE
wa ® g s 3 2

3. Find the first derivatives of y with respect to x :

10x2 = 20
y F1 x & HaU ° HFFEA q04 F
@ y=5¢-Tx+2+ -’—(2- - =
X X
X
®) Y= 11 logx
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(a) Explain the concept of Total Revenue

(b)

Average Revenue and Marginal Revenue of
a firm. Show the relationship between
Average Revenue, Marginal Revenue and
elasticity. 10
frft wd & @ som, ahga wrm aw dne
3 1 vrron it ) waend | aivea s, s,
T a9 " ) A9 F dte way a9 |
What is elasticity of demand ? Explain the
concept of price elasticity, income elasticity
and cross elasticity of demand. 10
gin #) =fra #0 ¢ 7 9in ) Fimga @, W
ya =ra qg 9t & S ) anens #®)
HAZTT |

What is Marginal Cost 7 Explain the relation

between Margina! Cost and Average Cost.
10

Hrara @ #491 § 1 diET dra U shad A

& fta v @

(b) The total cost function for producing a

commodity in x quanity is 10

( Tum over )
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(a)

(b)

fafi asq @1 x WrA A IeaTEE #1441 3 cinq
weld g 2

TC =60 - 12x+ 2%

(i) Find AC

AC F1a F |

(i) Find the level of output at which AC is
minimum.
v eqrEA W F A F 7g AC MR |

What is Consumer’s Surplus ? How s it
derived from a demand curve ? 10
it £ a=a ¥ @ 7 uin a% @ T feR R
A 3ma B W a7

The MC of @ firm is MC = 1000 - 2x + X
where x is the number of units produced. The
fixed cost is 9,000. Find Total Cost. 10
ol s ) fvrir e & MC = 1000 - 2%+ X°
sl x 7 & ez ) avn @ ) R R e

9000 @ o oI Fa R |
7.. Solve the following system of linea equations
using Cramer's rule . 20
(4) Contd.
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Prerfafen ahan st 3 fraw om za =t -

Ix+y+22=3
2x-3y-z=-3
X+2y+2=4

(a) Give an example of each of the following :
10

fafafgs & &-= Rwwm 2 .
() Square Matrix
1 aneyE
(1) Null Matrix
3 Are
(iii) Transpose of a Matrix
gftad m=re
(v) identity Matrix
I8 IR
(b) Find the determinant value of the given A
matrix : 10

43 2w Mo A SR ¥ ARt W AH TR

13 16 19
_[14 17 20
15 18 21
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